C2G

Complex gripper, flexible assembly End-Of-Arm-Tooling

@

ROBOTICS PARTS CATALOG

USEN UNUABULADSINSA DINA f : nandeeintertrade
NANDEE INTER-TRADE co-, LTD- @: @nandeeintertrade
Tel : 0-2675-8230 (Auto), 0-2675-8240 (Auto)

Fax : 0-2212-1448, 0-2213-0360 @: www.nandee.co.th




E i |j\:| %Q'Contents

ﬂ*j\ %Wﬁéf Profile‘ SUS Tube

ZZRTEYE Stents Module 06-52

tR¥E Quick Changer 53-96
,:;f SE B Grip Module 97-180

S8 T] Air Nipper 181-207

E?ﬁgﬂ'ﬁ:Vacuum Module 208-244

Bﬂ'ﬁ: Accessory Components 245-262



?%I General Index

gg*Zs % % Ef%‘flje %SMJES: Tube

C PST-{NE
Sus Tube
\. T3/ Page 1

< PEP-E4
\ Extruded Profiles
N TG/ Page 2

@ PT-TEUZRH}
\r- T-Nuts

=4 s/ Page 3

e

¥ SFP-EFEIER
Fixing Plate

H
§ess Tif3/Page 6~8

SMB-1RAREEMF
Module Fixed Part
WY/ Page 9~38

< 3 SV-REmE
. Vacuum Cups Bracket
> TR#3/Page 39~43

Q} SC-SEfBiER#
) Clamp Leg Connector
TAf3/Page 44~49

‘ SEA-SEEEH
Elbow Arm Connector
‘& @ TA#3/Page 50~51

& SBN-EFES
Bush Nut
E TAf3/Page 52

EHAMH

Q-tRi%
Quick Changer

QCA-EHzhikik
Automatic Quick Changer
TR#Y/Page 53~78

QC-EFFahiRi
Round Quick Changer
f8/Page 79~90

SIP-fRIGIZESZR

Quick Changer Connector
Ta#L/Page 82~90

QCS-ISHF iRk
Square Quick Changer
s/ Page 91

QCL-LFZFapihin
Manual Quick Changer
WY/ Page 92~94

QCA-L.BmR
Automatic Quick Changer
TAf3/Page 96

G-kREAM
Grip Module

GMH-S#I3¥k
Cylinder Gripper
TR#3/Page 97~100

GMHZL2-jiF17k
Lengthen Parallel Gripper

TA#3/Page 98

GMXQ-Smig&a
Air Slide Table
TR#8/Page 105~113

GR-7kO%k
Sprue Gripper

TS/ Page 114~155




?\?,I General index

GS-EM3 5
BufferS upport
TAf8/Page 162~163

GM P -t EERIZ
Mould P ositioner
Taf8/Page 164

GN -Sgh5tsK
Pneumatic Needle Gripper
R7%/Page 166-167

GBD -g%fiK=8
BulgingDevice
Taf8/Page168~169

GF-Sahikis
Pneumatic Finger Gripper
RfG/Page170~177

GO -EAznflikTs

One Finger Angular Pneumatic Grippers

af8/Page178

N-S 158
Air Nipper
N -BSJJ A K

AirNipper B ody
WHY/Page186~187

N -B5717]sk
AirNipperBlade
WfY/Page 188~205

NT-B57]5|H 4%
AirNipperBracket
Taf8/Page207

V-EZFE A
Vacuum Module

FGA-IRE
Vacuum Cup
TAfB/Page208~211

w7

£

VSH -k
Vacuum Cups
fG/Page212~214

SAF-IRER
Vacuum Cups
Af8/Page215~216

VM -IR#ZE B85k

Vacuum Cup C onnector
TafB/Page217~225

VFE-£ BT
Stem S uction B uffer B ody
TAf8/Page226~229

VUVG-EBHiE
SolenoidValve
af8/Page235

Compact-EZt&H
Vacuum Module
TAf8/Page236~244

A-BHH

Accessory Components

ASC-558R
SignalBoxes
TAf8/Page 245

AJB-D&E
Junction B ox
fG/Page246~249

AR J-ABY IR KR
Miniature R egulator
TAf3/Page250




R #H2BPFGEF ( ¥ ) Vacuum Cups PFG Series

PFYN-2...PFYN3.5 PFG-5...PFG-10 PFG-15...PFG-50 PFG-60...PFG-95 PFYN-120...PFYN-200 il
Dk Dk V{‘%
; R IH - &
% A ‘
‘_.‘ ‘ \ Brmax | \ D"‘“» \
PFYN-2 SREE o | o | PPYN150 B
PFYN-3.5 B IR AR PFYN-200 E#IREZFE b3 §
NBR-55 HT1-60 T :’éi
(&) (i) (Weight) g
PFYN-2-... 0.12 2 M3-M - 2.5 6.0 1.Y12953 1.Y12972 1.Y12991 1g 5
PFYN-3.5-... 0.42 2 M3-M 4.2 4.0 6.0 1.Y12954 1.Y12973 1.Y12992 1g
PFG-5-... 0.75 2 - 1.7 5.5 6.5 1.Y12955 1.Y12974 1.Y12993 0.15g
PFG-6-... 1.2 2 - 1.7 6.5 6.5 1.Y12956 1.Y12975 1.Y12994 0.17g
PFG-8-... 2.3 2 - 8.2 9.0 7.0 1.Y12957 1.Y12976 1.Y12995 0.23g Eg
PFG-10-... 4.0 2 - 8.7 115 7.5 1.Y12958 1.Y12977 1.Y12996 0.30g al
PFG-15-... 9.0 4 - 12.2 17.5 8.0 1.Y12959 1.Y12978 1.Y12997 1g é
PFG-20-... 15.5 4 - 15.2 23.0 10.0 1.Y12960 1.Y12979 1.Y12998 1g .
PFG-25-... 26.5 4 - 16.2 27.5 14.0 1.Y12961 1.Y12980 1.Y12999 39
PFG-30-..  34.0 4 - 15.1 315 12.0 1.Y12962 1.12981 1.Y13000 39 ég
PFG-35-... 44.0 4 - 20.5 38.0 14.0 1.Y12963 1.Y12982 1.Y13001 69 gﬁ §
PFG-40-..  57.7 4 - 243 43.0 14.0 1.Y12964 1.Y12983 1.Y13002 79 e
PFG-50-... 91.0 4 - 29.1 53.5 15.0 1.Y12965 1.Y12984 1.Y13003 11g
PFG-60-... 125 6 - 38.7 64.0 18.0 1.Y12966 1.Y12985 1.Y13004 25¢g
PFG-80-... 260 6 - 52.3 86.0 20.5 1.Y12967 1.Y12986 1.Y13005 529
PFG-95-... 350 6 - 68.2 102.0 19.0 1.Y12968 1.Y12987 1.Y13006 939 52
PFYN-120-... 540 9 G1/2-F 89.5 124 36.5 1.Y12969 1.Y12988 - 2239 g]jg
PFYN-150-... 842 9 G1/2-F  104.5 158 45.5 1.Y12970 1.Y12989 1.Y13008 391g ﬁg
PFYN-200-... 1498 9 G1/2-F 1425 222 50.5 1.Y12971 1.Y12990 - 5559
(1) ERMERNDAEETEN-0.6barlSIRICE, MNFRENB. TENIHEMS, REETE2RH.
(1) The suction specified aboveis the theoretical value when the vacuum degree is -0.6bar. For smooth and dry workpieces,
the safety factoris notincluded.
REHH as
Types of assembly @:F+ F < EE
BEX frg
Factory-crimped fitting: e
mEL @F ¥ F < 5
Hollow shaft fitting:
i
;Ff:rfwu:\;l;fgﬁtting: = F"- F r< F + F = B2
(adapter and hollow screw) 1 é
|i| %%%m Cup Fitting t E%fuum Cups g
VM29-M5, VM30-G18 PFG-5~PFG-10 &
VM31-M5, VM32-G18 PFG-15 §
VM33-M5, VM34-G18 PFG-20 g
VM35-M5, VM36-G18 PFG-25~PFG-40 ’
VM37-M5, VM38-G18 PFG-50
VM-G14M-M10M PFG-60~PFG-95

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance  Heat

HE B FHtE resistance resistance HilistE resistance (in °C)
B n&oNE =i

SI-55: Translucent Translucent

50 +4++ = - - -40to0 220

Silicone FEPER FiE

HT1-60: Siton® . Blue
BHSEHHER 60 * ++ ++ -25t0170 e

NBR-55: Nitrile _ Black
TR 60 + + ++ -30to 120 B

CRG



REBFGAZRS (ENXNER/2E ) Vacuum Cups FGA Series

mz FSGA-6 FGA-11...FGA-25 FGA-33...FGA-78
*7.!'5 Dk Dk
g v % -
7 B — ' R, |+
Ds
;’%E Dmax o =
;%% FSGA-6 E#SIREEE Dmax Dmax
Q
5 A RilA  EEETE Gl Dk Dmax(S) Ds NBR-55 SI-55 HT1-60
N (N pgE(mm)  (mm) (mm)  (mm) (BE) (E5H) (lE)
FSGA-6-... 0.4 1.4 4 M5-M = 8.0 5.7 14 1.Y12937 1.Y12949 1.Y12951 29
FGA-11-.. 0.95 3.8 4 - 10 13.0 104 16.0 1.Y12938 1.Y12288 1.Y12298 1g
E’S FGA-14-... 1.2 5.0 4 = 10 14.5 12.5 155 1.Y12939 1.Y12289 1.Y12299 1g
:’: FGA-16-... 2.3 6.7 4 - 10 18.5 156 19.2 1.Y12940 1.Y12290 1.Y12300 1g
g FGA-20-... 4.7 10.7 4 = 10 21.0 18.1 15.2 1.Y12941 1.Y12291 1.Y12301 29
s FGA-22-.. 5.7 15.2 4 - 10 25.0 215 19.0 1.Y12942 1.Y12292 1.Y12302 29
FGA-25-... 5.3 17.3 4 - 10 26.5 225 230 1.Y12943 1.Y12293 1.Y12303 39
) FGA-33-... 13.6 39.6 6 - 18 38.0 30.0 27.0 1.Y12944 1.Y12294 1.Y12304 79
%% FGA-43-... 228 645 6 = 18 47.5 38.0 27.6  1.Y12945 1.Y12295 1.Y12305 119
He FGA-53-... 51.3 95 6 - 18 60.0 50.0 34.0 1.Y12946 1.Y12296 1.Y12306 199
° FGA-63-... 85.0 135 6 = 18 68.0 60.0 34.0 1.Y12947 1.Y12297 1.Y12307 249
FGA-78-... 137.4 218 6 - 25 84.5 74.0 47.0 1.Y12948 1.Y12950 1.Y12952 569
(1) ERMERAANEETER-0.6barBTIBIRE, WFRERE. FROIGMS, XEERTLREN
52z (1) The suction specified above is the theoretical value when the vacuum degree is -0.6bar. For smooth and dry workpieces,
gt—z, the safety factoris notincluded.
78 QXRABBRMENRE, ERFILME40%,
(2) The pull-off force of the vacuum cup made of natural rubberis reduced by about 40%.
REFN
%g Types of assembly @:n#+ # <
83 BiE
=z Factory-crimped fitting:
g Bl @# + # |:<
o Hollow shaft fitting:
At
g @ p+ o) e
e (adapter and hollow screw)
ﬁ:é [] Eﬁ?ﬁm Cup Fitting E 3 Ezfuum Cups
S VM18-M5, VM02-G18 FGA-11~FGA-25
3 VM24-G18 FGA-33~FGA-63
'§ VM41-G14 FGA-78

Materials

73

4

FHltt

Shore Hardness A Flexibility

UV & weather
resistance

IS

Abrasion
resistance

M

e

Oil resistance

Heat
resistance (in °C)
fif=ia

HT1-60: Siton® : Blue
sagstnEn ' o o 2310170 )
SI-55: Translucent B Translucent
Silicone  EBER 50 et et 4010220 55
NBR-55: Nitrile Black
. + + - ++ -
TEER 60 30t0120 Ly

CRG



IREFGEY (ENXNER/3E ) Vacuum Cups FG Series
FSG-3...FSG-5 FG-7...FG-9 FG-12...FG-25 FG-32...FG-88

Dk Dk %g‘;
_ &e
H H H g
L#J ) o e .
FSG-3 EmEk > ome pmax %%’
Q.
HfH  MEESE Gl Dk Dmax(S) Ds SI-55 g
()™ pgRE(mm)  (mm)  (mm)  (mm) (ZBB)
FSG-3-... 0.2 0.4 2 M3-M - 4.0 3.0 8.7 1.Y12929 1.Y12931 1.Y12934 1g
FSG-4-.. 03 0.6 2 M5-M - 7.0 3.8 19.0 1.Y12930  1.Y12932  1.Y12935 2g
FSG-5-... 0.2 0.8 2 M5-M - 7.0 5.0 19.0 1.Y12308 1.Y12319 1.Y12331 29 Eg
FG-7-... 0.1 0.9 4 - 9 9.0 5.9 14 1.Y12309 1.Y12320 1.Y12332 1g 5
FG-9-... 0.7 2.3 4 - 9 9.5 9.0 15 1.Y12310 1.Y12321 1.Y12333 1g é
FG-12-... 0.9 3.5 4 - 10 13.0 12.0 21.0 1.Y12311 1.Y12322 1.Y12334 1g s
FG-14-... 12 5.7 4 - 10 15.5 145 228 1.Y12312 1.Y12323 1.Y12335 29
FG-18-... 2.3 8.5 4 - 10 19.0 172 226 1.Y12313 1.Y12324 1.Y12336 29 *Q
FG-20-... 3.8 12.1 4 - 10 21.0 20.0 221 1.Y12314 1.Y12325 1.Y12337 2g %%
FG-25-.. 45  19.0 4 - 10 26.0 23.0 34.0  1Y12315  1Y12326  1.Y12338 4g "
FG-32-... 12.0 36.9 6 - 18 33.5 32 37.5 1.Y12284 1.Y12327 1.Y11797 10g ?
FG-42-... 13.6 44 6 - 18 45 42.6 46 1.Y12316 1.Y12328 1.Y12340 18g
FG-52-... 27.0 96 6 - 18 55 52.5 48.7 1.Y12317 1.Y12329 1.Y12341 249
FG-62-... 39.6 137 6 - 18 65 62.2 54 1.Y12318 1.Y12330 1.Y12342 399 =z
FG-88-... 45.2 286 9 - 25 95.5 89 86.5 1.Y12928  1.Y12933 - 1669 g]j;z’
33T
(1) ERMER D AEETEN-0.6barBIHNIEICE, WFREANLBE. TENIHEMS, KEERTERHK 738
(1) The suction specified aboveisthe theoretical value when the vacuum degreeis-0.6bar. For smooth and dry workpieces,
the safety factoris notincluded.
(2)RAGRMBEBIRE, Hi1hL9BEE40%,
(2) The pull-offforce of the vacuum cup made of natural rubberis reduced by about 40%. oy
REH a3
Types of assembly @:F+ F < §_
BiEd o
Factory-crimped fitting:
BEX @#Jr F <
Hollow shaft fitting:
A M
1Iiikr?:oivll;flifitting: = Fﬁ_ F r\/ F * # = ﬁ:g
(adapter and hollow screw) 3
|i| E%%%m Cup Fitting t %;ﬁuum Cups _g
VM39-M5, VM40-G18 FG-7~FG-25 e
VM24-G18 FG-32~FG-62 §.
VM41-G14 FG-88

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance Heat
W& BE Fi resistance resistance midis resistance (in °C)
WEH & fit=ia
HT1-60: Siton® . Blue
G b ' + ++ -25t0170 o
SI-55: Translucent R R Translucent
Silicone  YEWREE e e -40t0 220 e
NBR-55: Nitrile R Black
THER 60 * + + -30t0 120 o

CRG



RZESGONZERF ( mFIFE ) Vacuum Cups SGON Series

T
#a .
-
e
g4
g
H
=7
= =
He E '
c T | T
m | (G >
g —+——¢ y——
- <<| /)
I I
f
'H&Q Lmax
23
Q
2
B Bs R EEATERNE Gl H NBR-60  SI-60 HT1-60 58
(Model) (N) (mm) (mm) (Ba) (ERB) (%)  (Weight)
ke SGON-4x2-... 0.42 2 M3-M 2.5 4.5 8 1.Y13068 1.Y13079 1.Y13090 29
%; SGON-7x3.5-... 1.0 2 M3-M 4.5 7.5 8 1.Y13069 1.Y13080 1.Y13091 29
o
B2 SGON-12x4-... 1.8 2 M5-M 5.0 13.0 18 1.Y13070 1.Yy13081  1.Y13092 39
° SGON-15x5-... 3.1 2 M5-M 5.5 15.5 17 1.Y13071 1.Y13082 1.Y13093 3g
SGON-18x6-... 4.5 2 M5-M 7.0 18.5 17 1.Y13072 1.Y13083  1.Y13094 3g
SGON-24x8-... 8.0 4 G1/8-M 9.0 24.5 17 1.Y13073 1.Y13084 1.Y13095 79
s> SGON-30x10-... 12.2 4 G1/8-M 11.5 30.5 17 1.Y13074 1.Y13085  1.Y13096 79
ijjiz' SGON-45x15-... 28.2 6 G1/4-M 16.5 46.0 26 1.Y13075 1.Y13086 1.Y13097 15g
%§ SGON-60x20-... 50.1 6 G1/4-M 22.0 61.0 26 1.Y13076  1.Y13087 1.Y13098 199
) SGON-75x25-... 78.3 6 G1/4-M 27.5 77.0 26 1.Y13077 1.Y13088 1.Y13099 279
SGON-90x30-... 112.6 6 G1/4-M 33.0 92.5 26 1.Y13078  1.Y13089 - 359
(1) ERRMERAANEEZTE-0.6barBIRIEIRE, WFREXE. FTROIGMS, REERT2REHK
= (1) The suction specified above is the theoretical value when the vacuum degreeis-0.6bar. For smooth and dry workpieces,
f"‘.gg the safety factoris notincluded.
ﬁ; * SGON-24x8 REAME MR BREH T AETE X,
3 * SGON-24x8 and larger replacementvacuum cup pads are equipped with special fixing clips.
Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance  Heat
HE BE FHM resistance resistance ministE resistance (in °C)
W Tl mRE [
i HT1-60: Siton® ) ) Blue
g e ' o - 2510170 5
= SI-60: Translucent Translucent
0 - -
g Silicone  5EBERERS 50 +++ 4 -40to 220 A5EER
3 NBR-60: Nitrile Black
% TSR 60 + + ++ -30to 120 e

ANl CRG



REVSHZES ( ¥ ) Vacuum Cups VSH Series

VSH-S2...VSH-S10 VSH-S12...VSH-S30 VSH-MA4...VSH-M10 VSH-M12...VSH-M50 BT
oD oD @D oD s
OF aF %)
| i '
T T T T
]
* Anmo  Byo  GAmm)  Hmm)  @Dmm)  GF(mm)  SICHEER) g
VSH-S2 0.5 0.1 2 13 11 7 1.Y07282 =
VSH-S4 0.7 0.2 4 15 11 7 1.Y07283 -
VSH-S6 0.9 0.3 6 11 11 7 1.Y07284 - Hho
VSH-S8 1.1 0.5 8 11 11 7 1.Y07285 - }ﬁ%
VSH-S10 1.6 0.8 10 11 11 7 1.Y07286 = nj’,
VSH-S12 2.0 1.5 12 11 11 7 1.Y07287 - 3
VSH-S15 3.7 1.8 15 13 11 7 1.Y07288 -
VSH-S20 6.1 3.0 20 13 12 7 1.Y07289 - %9
VSH-S25 9.4 4.7 25 13 11 7 1.Y07290 = %2
VSH-S30 15.9 7.9 30 12 13 7 1.Y07291 - ﬁ:é_
VSH-M4 0.7 0.2 4 14 15 11 1.Y07292 - ®
VSH-M6 0.9 0.3 6 15 15 11 1.Y07293 -
VSH-M8 11 0.5 8 15 15 11 1.Y07294 =
VSH-M10 1.6 0.8 10 15 15 11 1.Y07295 1.Y12885
VSH-M12 2.0 15 12 15 15 11 107296  1.Y12886 2
VSH-M15 3.7 1.8 15 15.5 16 11 1.Y07297 1.Y12887 BT
VSH-M20 6.1 3.0 20 15.5 16 11 1.Y07298 1.Y07530 25
VSH-M25 9.4 4.7 25 15 15 11 1.Y07299 1.Y12888
VSH-M30 15.9 7.9 30 15 16 11 1.Y07300 1.Y07758
VSH-M40 26.7 13.4 40 16 17 11 1.Y07301 1.Y07894
VSH-M50 38.3 19.1 50 15 20 11 1.Y07302 1.YO07895 BS
Zs2
(LYEZEH65%IIREZRISTFRRMF N , EBUKFEIERRE R 82, EEHTIERNTE R4, ﬁi
(1) Actual force of the suction cup in use with 65% vacuum and including a safety factor of 2 for horizontal handling g
and a factor of 4 for vertical handling. s
REAN
Types of assembly @3#& F <
B
Factory-crimped fitting: B &
B @#+ # < 3
Hollow shaft fitting: 3
o g
o+ ]+
(adapter and hollow screw) 2
|i| %ﬁ?ﬁm Cup Fitting * %J?uum Cups E

VM11-M5, VM11-G18

VFS RFI&E (VFS Series Stem) VSH-S2~VSH-S30
VFST RFI&E (VFST Series Stem)

VM10-G 1/8, VM27-M5

VFM RFIEE (VFM Series Stem) VSH-M4~VSH-M50
VFMT &FI&E (VFMT Series Stem)

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oilresistance  Heat
HE BE I resistance resistance st
THEE &N
SI: Translucent 50 e R B B 400 220 Translucent

Silicone  HEIFEER FiEH

CRG



MRS . X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd }oINd

e

\
4

i

a|npo\ diig

b b2 |

saddiN 1y

FrisHHm

3|NPOIN Wnndep

-_T3
e

sjuauodw o) A10ssa20Y

REBVSH2E% (iENER/2E ) Vacuum Cups VSH2 Series

VSH2-S4...VSH2-520

oo |

o]

VSH2-S25...VSH2-S30

@D

VSH2-M6...VSH2-M25

VSH2-M30...VSH2-M50

@D
QF

H(mm) @D(mm) @F(mm) SI(F:FEHR)
VSH2-S4 0.3 0.1 4 15 12 7 1.Y07303 -
VSH2-S6 0.5 0.2 6 15 12 7 1.Y07304 -
VSH2-S8 1.2 0.7 8 15 12 7 1.Y07305 -
VSH2-S10 1.7 0.9 10 15 12 7 1.YO07306 -
VSH2-S12 2.5 1.3 12 15 12 7 1.Y07307 -
VSH2-S15 2.7 1.3 15 18 15 7 1.Y07308 -
VSH2-S20 5.6 2.8 20 18 15 7 1.Y07309 -
VSH2-S25 7.9 4.0 25 17.5 15 7 1.Y07310 -
VSH2-S30 12 6 30 17.5 15 7 1.Y07311 -
VSH2-M6 0.5 0.2 6 18 15 11 1.Y07312 -
VSH2-M8 1.2 0.7 8 17 15 11 1.Y07313 -
VSH2-M10 1.7 0.9 10 17 15 11 1.Y07314 1.Y08294
VSH2-M12 2.5 1.3 12 17 15 11 1.Y07315 1.Y08295
VSH2-M15 2.7 1.3 15 18 15 11 1.Y07316 1.Y08296
VSH2-M20 5.6 2.8 20 18 15 11 1.Y07317 1.Y07929
VSH2-M25 7.9 4.0 25 18 15 11 1.Y07318 1.Y08349
VSH2-M30 12 6 30 19 18 11 1.Y07319 1.Y08056
VSH2-M35 13.9 6.9 35 19 18 11 1.Y07320 -
VSH2-M40 20.2 10.1 40 22 23 11 1.Y07321 1.Y08104
VSH2-M50 40 20 50 24 24 11 1.Y07322 1.Y08105

(VEZEN65%HIREAIERRRM I , @RUKFEIFRT2RE82 , EETFRRERH4.
(1) Actual force of the suction cup in use with 65% vacuum and including a safety factor of 2 for horizontal handling
and a factor of 4 for vertical handling.

Materials

R

B

SI: Translucent
Silicone  FERREERL

Shore Hardness A Flexibility

Abrasion
resistance

WE

+++ =

Rt

RERN

Types of assembly
Bl

Factory-crimped fitting:
iR

Hollow shaft fitting:

porsan

2Rl )

Removable fitting:
(adapter and hollow screw)

i RARREE

Wl Vacuum Cup Fitting
VM11-M5, VM11-G18
VFS Z&FI& B (VFS Series Stem)
VFST Z%I& 8 (VFST Series Stem)

S+ o<

=+

@ e

* R
Vacuum Cups

VSH2-S4~VSH2-S30

VM10-G 1/8, VM27-M5
VFM ZRFI&E (VFM Series Stem)
VEMT Z%E& B (VFMT Series Stem)

VSH2-M6~VSH2-M50

Oil resistance

it

UV & weather
resistance

nRME

Heat
resistance (in °C)
i=ia

- - -40to 220

Translucent

FER

CRG



REBVSH3IEY (ENXE/3E ) Vacuum Cups VSH3 Series

VSH3-S6...VSH3-S8 VSH3-S10...VSH3-S15 VSH3-M8...VSH3-M30 VSH3-M40...VSH3-M50 %{3’
oD ) 0D 53
‘ZD oF —2F 2
F . ' &2
i | —
|
I —
! - T s T R T 3.2%
— i 57
| . | i
| T —I g
QA QA QA QA
(o
H(mm) @D (mm) @F(mm) SIC¥5ER) SP(E4) 23
0
VSH3-S6 0.5 6 15 10 7 1.Y07323 - g
VSH3-S8 1.0 8 15 10 7 1.Y07324 - =
VSH3-S10 1.5 10 15 10 7 1.Y07325 -
VSH3-S12 2.8 12 15 10 7 1.Y07326 - *Q
VSH3-S15 3.0 15 16 10 7 1.Y07327 - %2
‘Ho
VSH3-M8 1.0 8 20 15 11 1.Y07328 - ¥y
VSH3-M10 1.5 10 24 15 11 1.Y07329 1.Y09163 °
VSH3-M12 2.8 12 24 15 11 1.Y07330 1.Y09162
VSH3-M15 3.0 15 24 15 11 1.Y07331 1.Y09161
VSH3-M20 4.6 20 25 15 11 1.Y07332 1.Y08134 s>
VSH3-M25 6.5 25 29 17 11 1.Y07333 1.Y09065 Mz
VSH3-M30 12.1 30 35 17 11 1.Y07334 1.Y08167 %§
VSH3-M40 20.5 40 45 20 11 1.Y07335 1.Y08168
VSH3-M50 25 50 43 20 11 1.Y07336 1.Y08234
(VEZE965%H IRERISTRRRM T , EIUKFELENRERE02 , EEHTIERTE R4, _
(1) Actual force of the suction cup in use with 65% vacuum and including a safety factor of 2 for horizontal handling %5
and a factor of 4 for vertical handling. EE
BEHR trg
Types of assembly @:n#+ # < =
Eif
Factory-crimped fitting:
o =)+ <
Hollow shaft fitting: W
A #3
SRS 2
Removable fitting: = F‘l' F < F + # = °
(adapter and hollow screw) 5
o
3
|i| %@Em Cup Fitting * %%uum Cups -§
VM11-M5, VM11-G18 g
VFS Z%5I& & (VFS Series Stem) VSH3-S6~VSH3-S15 <
VFST &£ E (VFST Series Stem)
VM10-G 1/8, VM27-M5
VEM RFI£E (VFM Series Stem) VSH3-M8~VSH3-M50

VFMT RFIEE (VFMT Series Stem)

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance  Heat
HE e FtE resistance resistance s resistance (in °C)
M ki =2
SI: Translucent 50 e R R R 2010 220 Translucent

Silicone  HEBAEER FiEHR

CRG



RESAFRS (B¥) Vacuum Cups SAF Series
IhRE : BB, PO, BAK (ZRTRERS , BIESRM )

%g Functions: anti-skid, oil-proof and water-proof (mostly used for adsorption of automobile sheet metal, glass, etc.)
- G1 G1
X o
& - L
g i
— ' i‘ : "
55 |
Zs | Dmax(s) | Dmax(s)
%% SAF..-AG(SNF R 2E) SAF..-IG(HF &%)
“—a
g ®A WEp  #EHS  Dmax(s) Gl H LGL EE
(N) (N) EMRE(mm) (mm) (mm) (mm) (mm) (Weight)
1.Y13010 SAF-30-G3/8AG 38 30 4 34 G3/8-M 20 10 179
1.Y13011 SAF-30-G3/8IG 38 30 4 34 G3/8-F 36 9 439
H&KED 1.Y13012 SAF-40-G3/8AG 69 52 4 46 G3/8-M 22 10 199
}ﬁ% 1.Y13013 SAF-40-G3/8IG 69 52 4 46 G3/8-F 38 9 45¢g
g 1.Y13014 SAF-50-G3/8AG 100 80 4 56 G3/8-M 28 10 409
s 1.Y13015 SAF-50-G3/8IG 100 80 4 56 G3/8-F 28 15 31g
1.Y13016 SAF-60-G3/8AG 150 105 6 67 G3/8-M 31 10 469
) 1.Y13017 SAF-60-G3/8IG 150 105 6 67 G3/8-F 31 15 379
%% 1.Y13018 SAF-80-G3/8AG 272 205 6 89 G3/8-M 35 10 659
He 1.Y13019 SAF-80-G3/8IG 272 205 6 89 G3/8-F 35 15 569
° 1.Y13020 SAF-100-G3/8AG 430 310 6 110 G3/8-M 36 10 769
1.Y13021 SAF-100-G3/8IG 430 310 6 110 G3/8-F 36 15 679
1.Y13023 SAF-125-G3/8IG 660 475 9 135 G3/8-F 43 15 1469
5z
#flz
23 IREZSAOF&% (m¥=) Vacuum Cups SAOF Series
TORE : BriB. oM. BOK (ZRTRERSE  WKIBFRM )
Functions: anti-skid, oil-proof and water-proof (mostly used for adsorption of automobile sheet metal, glass, etc.)
%g S I.E. LG1 G1 LG1
83 x %!
" == |
. SAOF...-AG (S F % 55) SAOF...-IG(RF &)
Egg wA A Dmax(S) G1 H LGl  Lmax(S) B8
2 (N) (N) (mm) (mm) (mm)  (mm) (mm) (Weight
% 1.Y13024 SAOF-50x16-G3/8AG 31 24 4 18 G3/8-M 26 8 52 249
E 1.Y13025 SAOF-50x16-G3/8IG 31 24 4 18 G3/8-F 34 9 52 45¢g
§ 1.Y13026 SAOF-60x23-G3/8AG 57 37 4 25 G3/8-M 18 8 64 21g
% 1.Y13027 SAOF-60x23-G3/8IG 57 37 4 25 G3/8-F 26 9 64 429
1.Y13028 SAOF-90x30-G3/8AG 122 96 4 34 G3/8-M 19 8 94 39¢g
1.Y13029 SAOF-90x30-G3/8IG 122 96 4 34 G3/8-F 27 9 94 60g
1.Y13030 SAOF-80x40-G3/8AG 140 110 4 43 G3/8-M 20 8 85 349
1.Y13031 SAQOF-80x40-G3/8IG 140 110 4 43 G3/8-F 28 9 85 55¢g
1.Y13032 SAOF-100x50-G3/8AG 217 181 6 54 G3/8-M 22 8 106 639
1.Y13033 SAOF-100x50-G3/8IG 217 181 6 54 G3/8-F 31 9 106 859
1.Y13034 SAOF-120x60-G3/8AG 312 254 6 65 G3/8-M 24 8 128 779
1.Y13035 SAOF-120x60-G3/8IG 312 254 6 65 G3/8-F 33 9 128 99g
1.Y13037 SAOF-140x70-G3/8IG 425 344 6 76 G3/8-F 34 9 149 107g

o



RESABRF (KNEZ/2E) Vacuum Cups SAB Series
&E - B5iB. BaH. BAK ( SAFERERS  WIBZRK )

Functions: anti-skid, oil-proof and water-proof (mostly used for adsorption of automobile sheet metal, glass, etc.) %{%’
D1 D1 E
G1 G1 M
Il LG | ‘ LG1 ig%
- N ! g
di —H
H
3z
v |s
Dmax(s) | ! Dmax(S) N Zﬁ §
Q.
SAB...-AG(JMNF R4%) SAB...- IG(RFL2E) s
A Bty @A BEAET DINENS)] Gl D1 H LGl 58
(N (N) (N &RZE(mm)  (mm) (mm)  (mm) (mm) (mm) (Weight)
1.Y13038 SAB-22-G3/8AG 16 24 18 4 24 G3/8-M 22 25 10 159
1.Y13039 SAB-22-G3/8IG 16 24 18 4 24 G3/8-F 22 41 9.5 41g Eg
1.Y13040 SAB-30-G3/8AG 22 33 30 4 34 G3/8-M 32 28 10 199 5
1.Y13041 SAB-30-G3/8IG 22 33 30 4 34 G3/8-F 32 44 9.5 45¢g é
1.Y13042 SAB-40-G3/8AG 38 59 36 4 45 G3/8-M 32 28.8 10 20g s
1.Y13043 SAB-40-G3/8IG 38 59 36 4 45 G3/8-F 32 448 9.5 459
1.Y13044 SAB-50-G3/8AG 53 87 55 4 56 G3/8-M 40 36.9 10 41g ég
1.Y13045  SAB-50-G3/8IG 53 87 55 4 56 G3/8-F 40 369 15 32g w3
1.Y13046 SAB-60-G3/8AG 82 130 82 6 67 G3/8-M 48 413 10 49g 1¢§
1.Y13047 SAB-60-G3/8IG 82 130 82 6 67 G3/8-F 48 41.3 15 40g
1.Y13048 SAB-80-G3/8AG 135 221 145 6 89 G3/8-M 64 49.9 10 729
1.Y13049 SAB-80-G3/8IG 135 221 145 6 89 G3/8-F 64 49.9 15 639
1.Y13050 SAB-100-G3/8AG 190 357 220 6 110 G3/8-M T 56.6 10 979 s>
1.Y13051 SAB-100-G3/8I1G 190 357 220 6 110 G3/8-F 7 56.6 15 88g éﬂh_-sz‘
BY
1.Y13052 SAB-125-G3/8AG 250 558 352 9 135 G3/8-M 94 67.8 10 1799 ﬁg
1.Y13053 SAB-125-G3/8IG 250 558 352 9 135 G3/8-F 94 67.8 15 170g
RESAOBZEY (RXENKFEY/2E) Vacuum Cups SAOB Series
Ihee : B, B, Bk (SATRERS  RASRE) us
Functions: anti-skid, oil-proof and water-proof (mostly used for adsorption of automobile sheet metal, glass, etc.) ;E <
#H3
#Fg
J— |‘ﬂ,| LG1 il LG1
: £ . B %
EEI=T=AN 5 3
SAOB...-AG(MNF R ) SAOB...-IG(RFRE) 9
3
el
o

BE A ffis MiEh Bmax(S) Lmax(S) Gl H LG1 g2
(Model) NN (N (mm)  (mm) (mm)  (Weight)

1.Y13054  SAOB60OX30-G3/8AG 38 70 73 4 33 63 G3/8-M  27.0 8 499
1.Y13055  SAOB60X30-G3/8IG 38 70 73 4 33 63 G3/8-F  35.0 9 70g
1.Y13056  SAOBBOX0-G3/8AG 65 132 153 6 43 83 G3/8-M  29.7 8 679
1.Y13057  SAOB-80x40-G3/8IG 65 132 153 6 43 83 G3/8-F 377 9 889
1.Y13058  SAOB110x55G3/8AG 110 234 299 6 59 114  G3/8M 355 8 879
1.Y13059  SAOB-110x55-G3/8IG 110 234 299 6 59 114 G3/8-F 435 9 109g
1.Y13061  SAOBl40x70-G3/8IG 165 355 473 6 75 146 G3/8-F 415 9 142g

.



k#FE Vacuum Cup Fitting

1) =2 = — P
wy BISRRFE
#2 Model representation methods VM - [G14
Me _ —_—
g4
g
g5 _ 0 | 1BF R~ Thread dimension
Series B2 NO M5 M8 G1/8 G1/4
3z
23
Em
’éag
R 52 e
Vacuum Cup
Fitting
Re
]a
o ! »
%2 ~I
=k Dimension A 0350
gﬁg A L» qu17/4 ) G1/4
fre —
@) - °
AN/ L
BS(PN) 7.Y00703 7.Y00709 7.Y00768
%? 1] =
Wz B S (Model) VM02-G18 VMO04-G14 VMO06-G14
BUT
72T
718 E 8 (Weight) 3.5g 7.0g 9.7g
HS
a3 TR AR
8 Vacuum Cup
5 Fitting
10
Mj‘; $6.80
e
§ %
S RY ||
-g Dimension e
©@)-
HS(PN) 7.Y00767 1.Y05275 1.Y05274
BIS(Model) VMO07-G18 VMO08-M8 VMO09-M5
B E(Weight) 3.3g 8.3g 1.4g

CRG




k&2 FE Vacuum Cup Fitting

D
VM :
— ——— c
o
E2 $EF R~ Thread dimension ®
Series B2 NO. M5 M8 G1/8 G1/4
=z
ZEs
Elﬂ
£
R 2 R 5
Vacuum Cup
Fitting
Hho
A ’—> o7 ﬁr_”r
. | — 0
©11.00 g
T o
R % ~ %9
Dimension 24.30 I L [Jozro Bo
G/ A M5 §E§
] C) He
) 7O ®
5S(PN) 7.Y00902 1.Y05327 1.Y12762
. 52z
ElS(Model) VM10-G18 VM11-M5 VM11-G18 oz
BUT
3T
EE (Weight) 3.79 2.0g 2.59 7%
=
0 52 FE ﬁ;
Vacuum Cup S
Fitting 5
A ’—> 86.50
Wf ?P;ﬁ
0
re | U
Dimension | % -§
- k| 2
e Nl e c
)\ L
5S(PN) 7.Y00762 7.Y00761 7.YO0760
E15(Model) VM12-M5 VM13-M5 VM14-M5
B & (Weight) 1.29 0.7g 0.5g

c=G E!g




IR#2EE Vacuum Cup Fitting

A D
T
VM :
== G B _—
B 5
g
g5 _ ¥EFR~ Thread dimension
Series BE NO. M5 M8 G1/8 G1/4
=2
231
EV’
Za§
I £2
Vacuum Cup
Fitting
T*[(E)
}ﬁ% m @7.53
g [ ] »6 ©6.50
o ©9.60
;%Q Rj— % E °
g3 Dimension } o4 f $3.50 |
Z‘Z | G1/s - G1/8
e
BS(PN) 7.Y00759 7.Y00758 7.Y00757
at; s
Wz B S(Model) VM15-G18 VM16-G18 VM17-G18
BUT
Eche]
712 E = (Weight) 17.89g 3.89 2.99
BS
EE % 53 [ , ( )
ﬁ:i Vacuum Cup A@
oy Fitting v
©6.7 "—‘““
Mj‘f T /r‘®7.50
1¢§ ©4.50
. P
: § @ Q
g ~|
3 R~ FET !
g Dimension @z.soiMs | 14
HS(PN) 1.Y05314 4.Y00058 1.Y01986
BS(Model) VM18-M5 VM20-G14 VM21-M5
EE(Weight) 4.69 9.5¢ 1.89

CRG




k£ FE Vacuum Cup Fitting

Fitjed
VM -
— ——— c
g9
g
=5 ¥EF R~ Thread dimension
Series B2 NO. M5 M8 G1/8 G1/4
=z
2
Elﬂ
&
% 72 R . 2
Vacuum Cup 6y
Fitting =
:r;&(:)
@14 }ﬁ';
L= o L e i 2
g Tm m‘t‘m E
2 % \ 2 —
~ A $2.10 m,
. R__f. — ﬁ @ 2 *Q
Dimension | /mA/‘ ~ Bo
; o A G118 : gﬂ%
5 (PN) 1.Y05790 7.Y00900 7.Y00898
Y= 52
£S5 (Model) VM22-M5 VM23-G18 VM24-G18 #z
BY O
Eche]
ER(Weight) 2.99 8.9g 5.5g 73
BS
z=2
R £ “ ZEE
Vacuum Cup s . g
Fitting e g
4‘./ )
= sz B 2
% % [] e
. % ]
g N 2 H
RTJ- - é ;]' 04 _g
Dimension E S
— N Lo ©2.70 ‘.:’D
[ | i 2
<. -
. 7 L
55 (PN) 7.Y00928 1.Y01097 7.Y00475
EJ5(Model) VM25-M3 VM27-M5 VM28-M8
EE 8 (Weight) 0.29 6.29 1.9g

c=G




k#FE Vacuum Cup Fitting

il
Mz
-2 VM -
ik — o
=
o
" EY ] TR~ Thread dimension
Series B2 NO. M5 M8 G1/8 G1/4
xZ
221
15 2
Hs
5 % 2 FE
Vacuum Cup
Fitting
'H&é)
m
Q
%9 RY
Bo Dimension
HE
h @L
BE(PN) 7.Y01036 7.Y01037 7.Y01038
<z s
Wz B 5 (Model) VM29-M5 VM30-G18 VM31-M5
BU O
Eche]
25 B (Weight) 1.1g 1.3g 3.8¢
BS !IBT’: !IB—E.:
zs2 P @
e R 52 e R 2
frz Vacuum Cup g : < '
2 Fittin ki k
o 9 fer v
A-A
° 310
B = A g (93,
e | -
8 . R |
}:? = 2 E o
3 R~ ©
S Di i i | | |
% imension | i -
: é%; :% ¢ 2
5S(PN) 7.Y01039 7.Y01040 7.Y01041
E5(Model) VM32-G18 VM33-M5 VM34-G18
E#(Weight) 4.1g 4.09 .

C=G




k£ FE Vacuum Cup Fitting

x5 _ | ¥EF R~ Thread dimension
Series 2 NO. M5 M8 G1/8 G1/4

IR 2 EE

Vacuum Cup
Fitting
RY
Dimension -
K 2 - 2 i )

S (PN) 7.Y01042 7.Y01043 7.Y01044
E5(Model) VM35-M5 VM36-G18 VM37-M5
EE(Weight) 3.4g 3.79 4.39

3 i‘ _~ !'1. - !'1.
I 7 R n‘f‘ 5.y
Vacuum Cup } )= L8 ’%
Fitting i k‘ ;
ah A gAs-./;o
08.50 ’—> —
] E % % ©5.80 ©5.80
RY Z % — -
Dimension i g B o
= A L» M5
i w50 7 250 3.50

S (PN) 7.Y01045 7.Y01046 7.Y01047
B 5 (Model) VM38-G18 VM39-M5 VM40-G18
B8 (Weight) 4.7g 3.89 4.19

.

B3y | FhE

d9qnL SNS - 3!404d

S R

3|NPOA SIUdIS

S SR

J9bueyd 3oInd

il

a|npo\ diug

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y




k#FE Vacuum Cup Fitting

VM
5 _ | ¥BF R~ Thread dimension

Series M5 M8 G1/8 G1/4

5 et

agn1 SNS . 3]1404d

HEE S A

9|NPOJIA SIUd1S

R £ R
Vacuum Cup
Fitting

SR

Jabueyd }dIND

2 ©13.50

40

RY

Dimension

G1/4,

3 S
a|npo\ duo

5E(PN) 7.Y01048

ES(Model) VM41-G14

saddiN 11y

&

8 (Weight) 149

Frif HL i

9INPO Wnndep

—~
F=

syuauodwo) A10ssa00y

el CRG



kFE e BiEL Vacuum Cup Connector
BSERTHE

s
Model representation methods m3
VM - [G18] [M] - [M8] [F] il
Gig) M F]
g
B HNZF F-Female
Series ShF M-Male
#F R~ Thread dimension ¥F R~ Thread dimension %?
G1/8 G1/4 M5 K F-Female M5 M8 M10 ﬁ;’z’
SNF M-Male 83
REEE
ek e
Vacuum Cup Hwa
Connector %
g
M10*1.25
A i M5
A = *xQ
Il CE
- . 1 g
° il He
R — °
Dimension A @’214/3 [
52>
#z
B3
£55(PN) 7.Y00808 7.Y00756 7.Y00755 75
BS(Model) VM-G18M-M10M VM-G14M-M10M VM-G18M-M5F
E&(Weight) 4.5g 4.7g 2.99
B
283
=
s
kEEHE . ®
sk . .
Vacuum Cup %{' % ‘-
Connector o i i B &
%3
S
A= M8 ] A M8 ] A G118 E
3
© el
< © S
R ﬁ I - 35
Dimension A 4 ] ) A 9250 A 0250
G1/8 I M5 _ M5
N
7 L
5S(PN) 7.YO0754 7.Y00473 7.YO00474
B 5 (Model) VM-G18M-M8F VM-M5M-M8F VM-M5M-G18F
B & (Weight) 6.29 5.69 4.9g

c=G




ke Bk Vacuum Cup Connector

BSRRFE

w3
M3 Modelrepresentation methods
@y VM - -
= p—
=y | AN F-Female
Series SNF M-Male
2z FRY Thread dimension | | ®FRY Thread dimension
E;’ G1/8 G1/4 M5 RS F-Female M5 M8 M10
Hs 5hF M-Male
REEE
RO sefEsk
s Vacuum Cup ‘
§ Connector /8 "‘.-,/
%__G? A ’_> M8
EU
g3 e
He 8 | 7
° R ? é -
Dimension A veso | !
T} M
5> NPy
Hz N1/
5%
Jjgz 1=
HS(PN) 7.Y00476
E45(Model) VM-G14M-M8F
E 2 (Weight) 6.79
'S
283
1¢§
By 2
#Fg
5
o
E

e CRG



BEFREZEH Vacuum Cup Suspensions

BSRTHE BT
. - o
Model representation methods VrE [1011] - [Mm5] ZE:
2
=51 W £ FEZ AT =G
Seri Vacuum Cup Fitting hole for fastening =
eries M5 G1/8 g
7 BEHER L 2EFH+TE
Non Cylindrical type Installation+stroke
T 1257 R
T Thread type "
1% 2
Hs
®me
e
VFE VFR VFN o]
g
%2
E-E
HE
"
VFET VFRT VFNT
52
SHVHFREIE , XL B T RS RAONE. R
CRG REN N BRM T Iz MR, 713
Blil—REBEIEEETEERE L.
The suspensions (or buffers, or level compensators) are used to keep the suction cups in position as the robot approaches.
CRG offers a range specifically designed for Plastics applications.
They are typically mounted on EAOTs (End Of Arm Toolings)with Mounting brackets. =
. . z32
HEBEASME RSN IR A e
Suspensions with smooth body Suspensions with threaded body {¢§
] VFRT 2
VFN = VENT °
VFE - I VFET
Mz
e
s
& g
AR B4 Rpdcgstes 3
Non-rotative suspensions Rotative suspensions £l
: i
VENT VFRT
VFET
_—3 == =y

CRRG i3



B3y |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

SR

J9bueyd }oINd

3 HE W
a|npo\ diig

b b2 |

JaddiN 11y

FrisHHm

3|NPOIN Wnndep

-
=
=

sjuauodw o) A10ssa20Y

227

EeJiEEE 21 Non-rotative Suspensions

FORFOAT EBPEAR B HI AL .
HEERIEENIIET e,
EjEE : -1~ 8bar, .

Body and rod in anodized aluminum.
Non-rotative rod with high load capability.
Pressure range: -1 ~ 8 bar.

M

_+>

S

<

o

85(PN) HEE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)
8.Y00064 VFN1011-M5 M5 M5 210 10 22 17 8 60 11 79
8.Y00321 VFEN1021-M5 M5 M5 @10 10 41 17 8 89 21 119
8.Y00065 VFN1421-G18 G1/8 G1/8 @14 12 40 20 12 93 21 249
8.Y00322 VFN1436-G18 G1/8 G1/8 214 12 60 20 12 128 36 449
8.Y00066 VFN2026-G18 G1/8 G1/8 @20 15 50 21 16 112 26 549
8.Y00067 VFN2051-G18 G1/8 G1/8 @20 15 84 21 16 171 51 80g
>

S S A

I 1

- . = >

>
55(PN) BES(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)
8.Y00068 VFNT1011-M5 M5 M5 M10*1 10 22 17 8 60 11 12g
8.Y00323 VFNT1021-M5 M5 M5 M10*1 10 41 17 8 89 21 399
8.Y00204 VFNT1421-G18 G1/8 G1/8 M14*1 12 40 20 12 93 21 51g
8.Y00383 VFNT1621-G18 G1/8 G1/8 M16*1 12 40 20 12 93 21 649
8.Y00324 VFNT1436-G18 G1/8 G1/8 M14*1 12 60 20 12 128 36 729
8.Y00384 VFNT1636-G18 G1/8 G1/8 M16*1 12 60 20 12 128 36 769
8.Y00205 VFNT2026-G18 G1/8 G1/8 M20*1 15 50 21 16 112 26 82g
8.Y00206 VFNT2051-G18 G1/8 G1/8 M20*1 15 84 21 16 171 51 1209
CRG



oI hEsE 21 Rotative Suspensions

FARAFIAF AR EIAK . Body and rod in anodized aluminum. gug
AIHEREAT . Rotative rod. 72
EF58E : -1 ~ 8bar, Pressure range: -1 ~8 bar. ~
me
H =2
g
> (©) 7
ur >
1 >+7 J F
F TS D fﬁ%
=
e
\, ;}I I \r|'i 5
7 4 S - \
M5SHIEE G1/8REE
M5 is blue G1/8is black > Ho
e
o
55 (PN) BE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g) L‘.i'i
8.Y00060 VFR1011-M5 M5 M5 @210 3 22 17 8 53 11 1l1lg
8.Y00325 VFR1021-M5 M5 M5 @210 3 41 17 8 82 21 17¢g %0
8.Y00061 VFR1421-G18 G1/8 G1/8 214 12 40 20 12 93 21 23g E%
8.Y00326 VFR1436-G18 G1/8 G1/8 @14 12 60 20 12 128 36 40g ZH§
8.Y00062 VFR2026-G18 G1/8 G1/8 @20 15 50 21 16 112 26 50g e
8.Y00063 VFR2051-G18 G1/8 G1/8 @220 15 84 21 16 171 51 779
H 5z
=z
+> B3
sl i i e
\ | | |
:I\l\\\\ll\l\\!\“\\\\\ _
i nlel
F | 718s
B
NTAN) =g
SN A K 283
=TT ( =
M5RIEE Gl/8HEE | Y N g
M5 is blue G1/8is black ) > °
8 5(PN) A5 (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g) I}ﬁﬁ
8.Y00074 VFRT1011-M5 M5 M5  M10°1 3 2 17 8 53 11 149 e
8.Y00327 VFRT1021-M5 M5 M5 M10*1 3 41 17 8 82 21 269 ~<9‘
8.YO0075 VFRT1421-G18 G1/8 G1/8 M14*1 12 40 20 12 93 21 32¢g g
8.Y00381 VFRT1621-G18 G1/8 G1/8 M16*1 12 40 20 12 93 21 369 3
8.Y00328 VFRT1436-G18 G1/8 G1/8 M14*1 12 60 20 12 128 36 609 §
8.Y00382 VFRT1636-G18 G1/8 G1/8 M16*1 12 60 20 12 128 36 659 @
8.Y00076 VFRT2026-G18 G1/8 G1/8 M20*1 15 50 21 16 112 26 709
8.Y00077 VFRT2051-G18 G1/8 G1/8 M20*1 15 84 21 16 171 51 1049

c=G




NS ENIEA e 21 Non-rotative Suspensions With Integral Elbow Arms

ity al{E 0° 0 +/-90°Z AR iR ERE. Itis possible to set continuously the angle between 0° and +/-90°.
M;—f HhERIRE. External air feeding.
%Ié o F AT PR RS AR . Body and rod in anodized aluminum.
gﬁ HEBREEEHIIERT T, Non-rotative rod with high load capability.
£ E/358E : -1 ~ 8 bar, Pressure range: -1 ~ 8 bar.
H
> >
=2 G T -
1= 2 g
HS [] @ p - it — &Y
< g _I_|-
‘ F 1718S D
0
=
L
e N <
Hag S
0
5 B
@
£E(PN) 8BS (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)
) 8.Y00070 VFE1011-M5 M5 M5 @10 20 8 22 8 53 11 12g
%2 8.Y00371 VFE1021-M5 M5 M5 @10 20 8 41 8 81 21 1l6g
ﬁ:g 8.Y00071 VFE1421-G18 G1/8 G1/8 014 32 14 40 14 93 21 45¢g
® 8.Y00372 VFE1436-G18 G1/8 G1/8 214 32 14 60 14 128 36 48g
8.Y00072 VFE2026-G18 G1/8 G1/8 @20 35 14 50 14 111 26 709
8.Y00073 VFE2051-G18 G1/8 G1/8 @20 35 14 84 14 169.5 51 105g
5z
#z
B3 4
718 G [~ "3-%-.
= * TV P
e, i), =1t
~—", | .
BHS (@) F 1718S D
#H3
i -
® [N —
o
B
iz
e
S RE(PN) IS (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)
}:w 8.Y00069 VFET1011-M5 M5 M5 M10*1 20 8 22 8 53 11 15g
Ei 8.Y00374 VFET1021-M5 M5 M5 M10*1 20 8 41 8 81 21 244
% 8.Y00228 VFET1421-G18 G1/8 G1/8 M14*1 32 14 40 14 93 21 579
2 8.Y00379 VFET1621-G18 G1/8 G1/8 M1l6*1 32 14 40 14 93 21 649
8.Y00375 VFET1436-G18 G1/8 G1/8 M14*1 32 14 60 14 128 36 80g
8.Y0O0380 VFET1636-G18 G1/8 G1/8 M16*1 32 14 60 14 128 36 859
8.Y00229 VFET2026-G18 G1/8 G1/8 M20*1 35 14 50 14 111 26 88g
8.Y00230 VFET2051-G18 G1/8 G1/8 M20*1 35 14 84 14 169.5 51 1259

vyl CRG



EoEEErIIEThEdE 21 Non-rotating suspension for fixed piping

7= AR FA PR B U AX.
REREERIEE.,
RERIEINRERESN |,
ERE=#HSEENRIT.

£5(PN) E5(Model)
8.Y00313 VFC2030-G18

The productis made of anodic aluminium.
Built-in anti-rotation plastic piston.
Built-in telescopic function of spring reset,
tail vacuum intake fixed design.

I: f8s |
[a] —
Ar j _+ A
E F G
-
m) (]
i A 7 )
| | I
= 27 7 7
H
A B C D J )
G1/8 G1/8 @13 20 8 85 40 133 @18 12 30

N\

| 22 O

7' i == 74)

| | 1
V LA ?fé ) s
H

£25(PN) BUE(Model) A B @ D E F (€] H I J S
8.Y00277 VFCT1620-M5 M5 M5 ®8 MI16X1.0 5 69 26 100 ®14.5 7 20
8.Y00314 VFCT2030-G18 G1/8 G1/8 ®13 M20X1.0 8 85 40 133 @18 12 30

B3y | FhE

agnL SNS . 3|1401d

A M

S|NPOA SIUBIS

S SR

J9bueyd 3oInd

T K
a|npo\ diug

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

.




SRMIE£E The Adsorption Of Pneumatic Fittings

E -
A
ZE
ne o e
% 2 Pneumatic Cylinder Motion Air Inlet
=y
® D
718s
3z
=
A3 H
| IRBHS
n|~;& ,(CD sorption Air Inlet
]a
) A TR
o Suction Cup Fitting Assembly
e
RE(PN) ZBiE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) H(mm) I(mm) S(mm) Weight
FQ 8.Y00207 VFG20-10 M5 ©20 12 19 18 M5 50 M5 10 359
ZE-% 8.Y00337 VFG20-20 M5 20 @12 19 18 M5 65 M5 20 459
ﬁé 8.Y00338  VFG30-20 G1/8 P30 20 27 27 G1/8 72 G1/8 20 709
Wk B Double action adsorption fittings
5z
#z
m3
Jle
[a) AIREEERRS
ensors can be installed
E Fi3E =,
Absorption Air Inlet
BHs ""'. G 57ES
?ﬁig [ I
ZH 3
[
1¢§ S
® ©, o °
LS ,_.....-/' T N \ | B AR 5 ° ° q
0] G q
M X — .
%3 ' I N 10 o I | \K
2 10 Y 10
E 25
S 36
K B
g & o
A W5 JES AR 22 A%
Suction Cup Fitting Assembly
RE(PN) BS(Model) A B C D E F G H I J K S Weight
8.Y00451 VFGD30-20 G1/8 20 27 27 G1/8 32 ®30 95 M5 40 M4 20 198.2g

Cc=G



kE<£E Suction Stems
BSERRAE

T
Model representation methods ZE:
_f__@é
VERS - [20] |[Mm10]| - [ms5] =g
D e— o
TR 52 FE 2237,
51 Vacuum Cup Fitting hole for fastening
Series M5 G1/8
; %%
172 Stroke TERT 33
Installation size 7@2
M10 M17 83
RC] F 1718S E
> +>
i e —
”Hl — tho
e
[a)
o o 5
3 ! > ‘,‘E
{(
H B3
\E
£E2(PN) BE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g) He
4.Y00026 VFRS-20M10-M5 M5 M10*1 M5 14 7 36 10 73.5 20 279 °
4Y00023 VFRS-20M16-G18 G1/8 M16*1 G1/8 21 4 36 15 77 20 769
5z
a H #z
53
£ \ 7]2
%‘Rfi‘ v S D
Wy g Hg
4 2t
=
<
£RE(PN) #IE(Model) A(mm) B(mm) C(mm)D(mm) E(mm) F(mm) G(mm) H(mm) I(mm) S(mm) Weight(g) 9
1.Y01452 VFM-4014-G18 @14 G1/8 G1/8 25 14 20 16 100 @20 40 48g 5
1.Y01451 VFM-2020-G14 @20 G1/4 G1/8 48 15 26 22 113 @27 20 1369
Bff
(i

syusuodwo?) A10ss8d0y

@ O —
A
S (PN) #5(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) Weight(g)
1.Y01453 VFL-20M17-G18 20 M17*1 G1/8 27 64 20 G1/8 119¢g

CcG



kE<£E Suction Stems

MRS . X

aqn1 SNS . 3|old

RS e o it
4
y ; g P

g -
A

y &

-

: —

|

A

@
><:§
.

” N & i # § g =T
& 4 O L P
j i et Hvuv&_%aj

5E(PN) #S(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) I(mm) S(mm) Weight(g)
8.Y00319 VFMT-20M14-G18 G1/8 G1/8 M14X1.0 40 22 49 14 109 38 20 979
8.Y00320 VFMT-40M14-G18 G1/8 G1/8 M14X1.0 40 22 64 14 144 50 40 123¢g

3|Npo 51U31S
2

B

e
2
E . {718s _,
vy
%2 .
B
7 RELLLE
e
10 0 8 R 4N B
Ci 3
5T T uﬁ_\?‘
(@] o v > [
5z
&z :
S
N 55 (PN) #IE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) I(mm) S(mm) Weight(g)
8.Y00409 VFHT-30M20-G38F-G18M G1/8 M20*1 G1/8 27 20 65 15 130 G3/8 30 2609
* LB R RER, FTBE AR MEIATN-18N, REHER, PR AR MESI7960N-150N
*Wheninstalling asingle spring, the pressureitcan bearis 7N-18N. When installing the double spring, the pressure that can bearis 60N-150N.
<
%§ G _ {158s
A5 1]]35!"6—
1¢§
% T4 ;
B % 1R PR R
2 L=
" y | |
< < 5555 B
S o > [
3 H
S
” S (PN) A5 (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) I(mm) S(mm) Weight(g)

8.Y00410 VFH-30M20-G38F-G18M G1/8 @20 G1/8 22 20 65 15 130 G3/8 30 235¢g

R BER, FTAEASZHEIANTN-18N, REWHE, FraEAZHEIH60N-150N
*Wheninstallingasingle spring, the pressure it can bearis 7N-18N. When installing the double spring, the pressure that can bear is 60N-150N.

EEl CRG



kE£E Suction Stems

BSRTRhE m
: 7=
Model representation methods .
VES |T| - |30 M10 me
N =) =
I BFRYT 3
o] p— M Thread type
Series .
7 [E#E2 Non Cylindrical type 17#% Stroke -
T IBFEI T Thread type %g’
H
| D=2
MAAARARNANR
< E@ - s o
v vUUUUuUuvY }ﬁa.
6;- e@ c 78s | E 5
a2 A i
AAARRARN + O
E@ U HI s %
%) =<
VFST VFS < s 1 e ﬁg
E 5
=G\ #IS(Model) B(mm) C(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)
8.Y00283  VFST-5M10 M10*1 18 5.5 o7 @3.4 49 5 1l4g 5z
8.Y00284  VFST-10M10 M10*1 18 5.5 o7 @3.4 54 10 15¢g é.ijjg
8.Y00285  VFST-20M10 M10*1 18 5.5 o7 @3.4 64 20 15g e
8.Y00286  VFST-30M10 M10*1 18 5.5 o7 @3.4 74 30 169
8.Y00287  VFS-0508 28 18 5.5 o7 @3.4 49 5 9g
8.Y00288  VFS-0512 212 18 5.5 o7 03.4 49 5 139
8.Y00289  VFS-1008 28 18 5.5 o7 @3.4 54 10 9g
8.Y00007  VFS-1012 212 18 5.5 o7 @3.4 54 10 14g Hs
8.Y00290  VFS-2008 28 18 5.5 o7 @3.4 64 20 10g =¢
8.Y00008  VFS-2012 212 18 5.5 o7 @3.4 64 20 14g ﬁg
8.Y00291  VFS-3008 28 18 5.5 @7 @3.4 74 30 11g g
8.Y00292  VFS-3012 212 18 5.5 o7 @3.4 74 30 15¢g 5
8.Y00293  VFMT-5M12 M12*1 18 9 @11 24.6 52.5 5 20g
8.Y00294  VFMT-10M12 M12*1 18 9 211 24.6 57.5 10 21g
8.Y00295  VFMT-20M12 M12*1 18 9 @11 4.6 67.5 20 22g g
8.Y00296  VFMT-30M12 M12*1 18 9 211 246 77.5 30 249 Egﬁ
8.Y00297  VFM-0512 @12 18 9 @11 24.6 52.5 5 15¢g g
8.Y00298  VFM-0520 220 18 9 211 4.6 52.5 5 29g <
8.Y00299  VFM-1012 212 18 9 211 24.6 57.5 10 169 S
8.Y00300  VFM-1020 220 18 9 211 4.6 57.5 10 29g 3
8.Y00301  VFM-2012 212 18 9 211 24.6 67.5 20 18¢g g
8.Y00302  VFM-2020 220 18 9 o11 4.6 67.5 20 31g “
8.Y00303  VFM-3012 212 18 9 211 4.6 77.5 30 19¢g
8.Y00304  VFM-3020 220 18 9 o11 4.6 77.5 30 329

CRG e



EBRLHE VUVG-LK &=Z(i® Solenoid Valve VUVG-LK
BT VUVG-LK,24VDC, NS L aH2 ' 50, 5KER M

filind
e Single pipe valve VUVG-LK,24VDC, Inner leader H2 Junction box W|th0 5m cable
o 14 al 2|
& H S/ \\>
s [/ T =
5(1] I3
M52, BATIE , Bl
Bl |, S84 TEB (—8101)
F e M52 Two-position five-way accessory
P2 g, single electronic control air reset seal a pack of ten
Zﬁ 3 L13
£ L4 L4
] l
© Ef o = -
T L10 |
#;a L9 02 L3 —]
g L8l | L12 KPERHE F R
Q horizontal electrical inferface manual buttorn
52 (PN) #AE(Model) Bl D2 L10 L11 L12 L13 L14 #"ESH
%o 1.Y06040  VUVG-LK14-M52-AT-G18-1H2L-S 144 33 348 32 401 37 665 184 149 17 248 956 944 177 660
%2 14 4 2| 12 %
fHo
8 s/ %QD
® sl1l I3
B52, P TIE , WEEHE Bt
B52 Two-position double EHE (—8101)
electronic contral accessory
2 seal a pack of ten
3 :Z‘ L2 .
ik LS Lé
Je
- L=]
=T h ) = .
[ m
Lol | 4l _fll E L10
L9 L3 02 —
BS L8 L1
=2 - KFrRRED [3] Fizm
%&2 horizontal electrical inferface E manual buttorn
g £8S(PN) B E(Model) Bl D2 H1 H3 L1 L9 L10 L11 #ESH
o 1Y06288  VUVG-LK14-B52-T-G18-1H2L-W1-S 14.4 33 348 3.2 1189 1164 40.1 37 39.7 66.5 184 149 17 248 660
6-G1/4 _ 17 16:0.0_%1
& - 4-84 58 @ [
- ° - 4-24.5 through
B & T e ® e o
i a2/ =22 © O 5 .
k L S - 10 [>p-o-1-7 3 ¢
3 il P @ S
§ 'o. >~ -. bl 4 4-M2.5X0.457%6 ® &
3 s 4-M2.5X0.45Depth6 N
g * o ' S~ ®
’ ‘ L+0.02
. P
RS (PN 1.Y06289 1.Y06290 1.Y06291 1.Y06292 1.Y06293 1.Y06294 1.Y06042 1.Y07453 1.Y06295
BB Model VUVGL/8-LK-2F  VUVGL/8-LK-3F  VUVGL/8-LK-4F  VUVGL/8-LK5F  VUVGL/8-LK-6F  VUVGL/8-LK-7F  VUVGL/8-LK-8F  VUVGL/8-LK-9F  VUVGI/8-LK-10F
EEH(Row) 2 3 4 5 6 7 8 9 10
L 40 56 72 88 104 120 136 152 168
P 50 66 82 98 114 130 146 162 178

1.Y09872 1.Y09873 1Y09874  1.Y09875 1.Y09876 1.Y09877 1.Y09878 1.Y09879 1.Y09880 1.Y09881

H5(Model) VUVGL/B-LK-11F VUVGL/8-LK-12F VUVG1/8-LK-13F VUVGL/8-LK-14F VUVGL/8-LK-15F VUVGL/8-LK-16F VUVGL/8-LK-17F VUVGL/8-LK-18F VUVGL/B-LK-19F VUVGI/8-LK-20F
E&(Row) 11 12 13 14 15 16 17 18 19 20
184 200 216 232 248 264 280 296 312 328

L
194 210 226 242 258 274 290 306 322 338




Compact 20CE EEA&428 Compact 20CE Vacuum Generator

BT &4ER Vacuum Generator & valve B
i . NN =
o EgEPiab SRETKERS o EFEIINSHE o WSREATR N
Configure Piab multistage Integrated electric Blowing flow i@é
vacuum generator vacuum and blow-off control valve = 2
valve S
EZ{ER%E8 Vacuum sensor
o ISR BB AP RIFERENETERES | SiFEhicmBEelinO, "
Vacuum sensor with user-friendly interface or reserved vacuum detection ;E §
port is optional. ;g @
<
Ha
R I& 1T Modular design PRigE#ESL Quick connector &
o ZRETRERAIRENEI o AJECE8mmELE 10mmATRIEEEL.,
TR , BIEHRENRE S,
The multistage vacuum generator 8mm or 10mm quick connector
can be disassembled, cleaned and can be configured. ,r;&g
replaced, and the troubleshooting i :::
is simpler. ~
g
EBZLEMERATAK The wire's length is 2 meters
BS(PN) = (Model) ZKF(Type) ég
1.Y13062 |COMPACT 20CE PNP PNP %gg
1.Y13063 |COMPACT 20CE NPN NPN o
52
iz
BUT
ﬁ}?’
Com pact 20CE }i*%%ﬂ/Compact 20CE technical parameter
'S
E=H/K Vacuum technology ZREZ KSR Multistage vacuum generator ;E §
<
T{ESIRIES (Mpa) Working air pressure 0.38~0.6 ﬁzg
BAETHRE (NL/S) Maximum Vacuum flow 24
BEEEZTE (-Kpa) Maximum Vacuum level 84 g
By 2
3582 (NL/s) Air comsuption 1.5~2.2 #%
T1ERRE (°C) Working temperature -5~50 g
el
o
R~ (mm) Size 94x78x30 3
12 (dBA) Noise level 57-68
EZ[OR Vacuum port size G3/8"
#E (g) Net Weight 370
EZS{E/488 Vacuum Sensor PNP/NPN
B85 ® Solenoid Valve NC/NO
JHFEINER Power consumption 24V+10% VDC,2W

.



MRy |, A

aqnL SNS . 3|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd }oINd

il
a|npo\ diig

b b2 |

JaddiN 11y

RS
3|NPOIN Wnndep

-z
=
=

sjuauodw o) A10ssa20Y

237

Compact 20CE Ex 488 Compact 20CE Vacuum Generator

Compact 20CE B REEERERTE
Dimensional drawing of Compact 20CE Vacuum Generator and Sensor

C=G

HemRamuHm

Release Valve

P70 P 2R

Pressure Sensor

1,
iR ] @ / @
S| % 7
Q‘:
7 I
mxgcgemm |, 24 |11 59
Supply Vahie
-G 53REEE
PRAA - i el
Supply Port _IJ]_ VRO
PT1/8 = Vacuum Port
p=m| PT3/8
I I 1 = [ ]
o d n Vg
2 Pex” : = §
W @ i & i
2 > 3
Lzl
I - i
:='l=r = = L ] T = =f__
wAR SR
e 45.5 25 235 Flow Control Knob 2.2
30 94
30
| \
Pressure Unit M
Display Section o " B
i rown (+
Lock Indicator 2 Color Main Display EZ;Wh't {(0311'2]
% e
Qutput 1 Indicator | Setting Mode
[ - Sub-display Section (3)Blue (-)
/ \ Output 2 Indicator 1 3 (4)Black (OUT1)
A Button Setting W Button
Button e B
30 20
N - DC (+) (Brown)
elx | %
- 51 s & |oumiBlck |
o 32 7 =pc
5 — OUT2(White) —RJE S
L : A DC (-) (Blue)




Compact 10CE £ E= A4 28 Compact 10CE Integrated vacuum generator
HUERFTISBEEE T H T

c=G

a3
e Z=E (20°C [68°F] + 3°C [5.50F]), 7f\ 2
o FREASSE (101.3 [29.9 inHg] + 1.0 Kpa [0.3 inHg]). igé
4
o HIHEE : 35-85%, TSk, g
o [FHRZS[HRE , DINISO 8573-1 class 4 FR/fE,
Values specified in the data sheet are tested at: o
o Room temperature (20°C [68°F] + 3°C [5.59F]) ;'gg
H2
e Standard atmosphere (101.3 [29.9 inHg] + 1.0 kPa [0.3 inHg]) gg§
“JERE LK AIPFIA The wire’s length is 2 meters e Relative humidity: 35-85%, non condensation g
1_7'43 =pN gg =] 9!&-)__?.2 . .
=0 A >===(Type) e Compressed air quality DIN ISO 8573-1 class 4 standard
1.Y13064 COMPACT10E PNP PNP
1.Y13279 COMPACT10E NPN NPN Hho
;ﬁ*%ﬂ/Technical data }ﬁ:’i
4B Description EA{3] Unit {E Value E
HEFIHSETT Recommended feed pressure Mpa 0.5
BAHSES] Feed pressure, max. Mpa 0.7 ég
N 2
BESBEl Temperature range °C 0-50 ﬁ g
E&* Weight* 9 74
e ) PA, AL, CuZn, PE, NBR, PC, SS, TPV,
Material FKM,Steel, Glass epoxy
sz
1 PN ETBERG THIRSSITE ) =z
. dB 46-60 BS
Noise level range of 1-8 vacuum channels BE
1EE |, E48ZES, Connection, compressed air - @6 HENTVIEREES 96 push-in connector
& , E= Connection, vacuum - @6 HENTUIEREEE 26 push-in connector
*) AR! EEFEEERPESHBL, *) Note! The weight does notinclude the cables thatareincluded in the shipping. =
K& J$& 1R/ valve module ng
15888 Description BA(Y] Unit {& Value =
Q.
i . NC E=S5H + NC IS ER 5
" JHIRE Valve function - NC vacuum normally closed +NC blowing normally closed
EEEEBJE Supply voltage VDC 24 (21.6 - 26.4)
TH=R Power W 3.5 ?Eﬁ
Mg MR 8] Response time ms <3 g
0
BB S1Z&E$E Electrical connection - Supplied cable, Red (+) Black (-) _%
o
E?E{g@%ﬁ/Vacuum sensor g
15888 Description EA{] Unit {& Value
R 12-24 +10%, K&=h P-P 10% BLEE1
FRIRFBLE Supply voltage vDC 12-24 £10%, Fluctuation P-P 10% or less
%fﬁiﬁﬁ(%ﬁﬂi) Current consumption (with no load) mA <40
YA Switch output - NPN
Mg MR 8] Response time ms <25
I Analog output VDC 1-5+2.5%FS.
B3 5,35 #E Electrical connection - JST PAP-05V




Compact 10CE &£t BT A 428 Compact 10CE Integrated vacuum generator

%g E?Efﬁ,%/Vacuum flow
-2 HSE SR/ B R/BENESSEER = e
e N FRIEZE (-kPa) FHOBZSTE (NUs ) BARE
= E.' A el EUmE)hiozzle Vacuum flow (NI/s) under different vacuum degrees (-kPa) Max vacuum
° Mpa NI/s 0 10 20 30 40 50 60 70 -kpa
0.50/0.40 0.23 0.26 | 0.24 | 0.19 | 0.14 |0.088 [ 0.063|0.045 [0.023 84
%%
;%% ;EEEEHgl‘Ej/Vacuumtime
—a
£ HSE TH/EE S R/EENSSEEE N . N
& HSENRZ=R/MIE S R/BIENZESHEER KEIRRIEEE (-kPa) A< HATE BARESE
e iR GBI Er Pumping time to different vacuum (- kPa) Max vacuum
vacuum pump/nozzle pump /nozzle
Mpa NI/s 10 20 30 40 50 60 70 80 -kpa
E‘E’_ 0.50/0.40 0.23 040 | 0.87 | 1.49 | 238 | 3.71 | 5.57 | 852 [15.44 84
o
° Qbﬁgﬁq/Dimensions
%2 -
EZ‘ WiBH Description EA(Y Unit {& Value
=l
e | A mm 113.6
® 1
]
I | OE mm d6
52
i A
%% | —M B & Configuration {& Value
Q a 26 HENTIERERS
@6 push-in connector
I
2
BS
?ﬁg = x @ 13_16'1
= liw ,E|
2 . i
Fious ]
- 1
Bt = B888—]
3 / 3 4
0 o 0N
< = w 3T
2 13.3 &=
3 [052"] [133"1] =
-g 1
% | A

i]-y@{%%/omering information

1iBA Description T ER{EB Product code

COMPACT10E, BSEZTRE (micro), B7RE , BIIMHFHE , NPN, 6 HEAEES,
1iBiE PeENTEERE ERNEER NCEZER + NCIRSEA
COMPACTIOE, ultra high vacuum flow (micro), display screen, analog and digital output, NPN, @6 push C10E.T.BB.6.1.6.E).CC

in connector, 1 channel, @6 push in connector, integrated muffler, NC vacuum normally closed + NC
blowing normally closed

eyl CRG



VLCLASSIC XI x 2 EzsA&458 VLCLASSIC XI x 2 Vacuum Generator

o BRTRERERRA. %{ ?
o HEREETERL 95 -kPa EZE MERERR. . .
N o sgan X £
« ERTRBESENTSENA, 25
o ABETBE , AR 1 E 6 NESREBWERE , VLCLASSIC g
AL BRBRNNSERENIARAEASTE.
o 215, ATREMAIERLEIT. o
o BFIREMER, 1
=
e High efficiency and energy saving generator technology. pz| §
© The vacuum generating tube can provide high flow rate under the vacuum 3
degree up to 95 - kPa.
o Suitable for non permeable applications requiring high vacuum.
e Large capacity range, 1 to 6 vacuum tubes can be provided. If necessary, E‘S
viclassic can be easily upgraded from smaller capacity to larger capacity. 5
55 (PN) #l S (Model) e Lightweight, configurable and modular design. 3
1.Y13065 |VLCLASSIC XIx?2 e Easy to disassemble and maintain.
E3)
ﬂiﬁ/Summary 1% 8E/ Performance %‘;
‘Ho
ravy— g
%} Materiel CuZn, NBR (FKM), PA, SS, Al ?gzglggﬁje?max 0.7 MPa ®
1225 Noise level 64 - 69 dBA Eﬂ%ﬁjﬁz,joptimum 0.45 MPa
IR ESEE| Temperature -10-80°C ﬁf\%cﬁrﬁ 95 -kPa s>
IE
=ik weight >509 qﬁ]%g&lAerodynamic parameters %§
TSR EE Mufflerweight| 1209 AIZRZSFH Internal volume 140 cm3
E M E/vacuum flow (NI/s) e
HSED FESE Bz (NI/s) @ 5= E (-kPa) BRARTE ?Eé
Feed pressure  Gas consumption Vacuum flow(NI/s) @ vacuum (- kPa) Max vacuum %2
Mpa NI/s 0 10 20 30 40 50 60 70 80 90 -kPa é
0.45 3.66 118| 6 4 26 | 146|1.16 | 0.86 | 0.64 | 0.36 | 0.06 95
HES B8]/ Exhaust time (s/1) ?Eﬁ
HSED SR HFSBdIAE] (s/1) E=SE (-kPa) BRAETE g
Feed pressure  Gas consumption Exhaust time (s / L) Vacuum (- kPa) Max vacuum i
o
Mpa NlI/s 10 20 30 40 50 60 70 80 90 -kPa -g
0.45 3.66 0.011|0.031| 0.06 | 0.11 | 0.19 | 0.29 | 042 | 0.6 11 95 §i

FIERFTIERRRVEERH T

Thevaluesindicated in the data sheet can be tested:

i Room temperature (200 C[689F] +3°C[5.509F])
FFAEERSE Standard atmosphere (101.3 [29.9 inHg] + 1.0 kPa [0.3 inHg])
HERTRE Relative humidity 0-100%

E45ZSJFRE Compressed air quality DINISO 8573-1 class 4

.



piINLINE® vacuum generator MINI Si, EZ &4 28 Vacuum Generator

e PNEW 8 * SHIFERINCOAX @B BIEIR,
e * SEERXEESRA.
[
‘é‘; o (REENEIRIT , TERTESNERTS SN,
o
® o HEAERE FRESENRE,
o FAFEYNE=RAISIER.
b o FAFAERHNEN TSRS IERERIPIERE
! s = .
B o BESREIRESHAXIERE.
#Hy
% e Patented COAX® cartridge technology.
o High vacuum flow capacity in relation to energy consumption.
o Low weight inline design with push-in fittings for vacuum and compressed air.
H®o ® Quick and easy installation directly on the hose.
}ﬁ% o Si cartridge for extra vacuum flow.
§ o Pi cartridge for high performance at low feed pressures.
Q
s o Xi cartridge when high flow and deep vacuum is needed.
xe % : :
%2 yl‘ﬁéﬂq/mmensmns
fHo
He A
® 96
@4@3 ; [3.78"] :
— |
1 P ‘ - 2
H
>
o ; EOAXETD: —
53 | 5
] C e
7] wEO 3/ H5O
o6 B 16301°] ®6
®8[5/16"] = ®8[5/16"]
BS
#H3 : :
H=z = piINLINE® vacuum generator pPiINLINE® vacuum generator
g &55 (Model) MINI Si, 6-6 mm MINI Si, 8-8 mm
55 (PN) 1.Y13066 1.Y13067
E1& Diameter 19 mm (B) 19 mm (B)
B 2
1¢§ HS OB Air inlet diameter 6 mm (C) 8 mm (C)
o
g HESOETR Air outlet diameter 6 mm (D) 8 mm (D)
o
KB Length 96 mm (A) 96 mm (A)
Mi&/Summary 'I'EEE/Performance

RS (8B ) E12842188

Product number (optional)

1kl Materiel CuZn, PA, SS, TEE&E BAHSEN

E= Weight 21.8g

Feed pressure, max.

#E5 & Gas consumption

25.7 I/m (.9 scfm) Nl/s

0.7 MPa

il CRG



piINLINE® vacuum generator MINI Si , Iz 458 Vacuum Generator

Eﬁiﬁ%/Vacuum flow(Nl/s)

HSES ESE Exing (NI/s) @ 5= (-kPa) RAETE
Feed pressure  Gas consumption Vacuum flow(NI/s) @ vacuum (- kPa) Max vacuum
Mpa NI/s 0 10 20 30 40 50 60 70 -kPa
0.6 0.44 0.69 | 055 | 042 | 0.28 | 0.23 | 0.16 | 0.12 | 0.08 75

HF%H‘JI‘E—IUExhaust time (s/l)

HSED SR AFSAEYE) (s/1) R=E (-kPa) RAETE
Feed pressure  Gas consumption Exhaust time (s / L) Vacuum (- kPa) Max vacuum
Mpa NI/s 10 20 30 40 50 60 70 -kPa
0.6 0.44 0.16 0.37 0.66 11 14 21 31 75

#IEIRFTIERARYEERTH T |

Thevaluesindicated in the data sheet can be tested:

Z=iR Room temperature (20°0C[68°F] +3°C[5.50F])
FREARSE Standard atmosphere (101.3[29.9 inHg] + 1.0 kPa [0.3 inHg])
FEXHEE Relative humidity 0-100%

[E45ZSTiE Compressed air quality DIN ISO 8573-1 class 4

B3y | FhE

3qnL SNS . 3|l404d

HEE A

S|NPOA SIUBIS

S SR

J9bueyd 3oInd

il oy
a|npo\ diug

ham 2 20301

JaddiN 11y

FrisHHmt

S|NPOIN wWnNNdep

=

syusuodwo?) A10ss8d0y

CRG




BHzSHEAH SCPSbZE%) Vacuum Module SCPSb Series
FEARITHERRETAEBIRAEMeconozzlelz R, EAFERBRTHIN,

# 5'? The compact and lightweight integrated vacuum generator adopts high-efficiency eco nozzle technology, which is suitable for working conditions
= under limited space.
L]
e
=
&
l = MHighlights I L #Advantage
-BEXeco nozzlefk Ak CEB/THEERD, MREXES
¥ g ERUNIG, MRAREMANER - EKEB)NIOWA;, TERREERERAAL
?Eé CRIERAEES, USHEEES -SfEAEAREE, RS
Az CRIER O -ERTIMBL
S - EJEDINAR S HE A ERE O -RERES; WAEERETEBHEL
° FREUEE B8 -IRFRR, EIPRTEERRER, #IPMER
-Efficient eco nozzle technology - The compressed air consumption is very small, and the suction rate
-Small size, made of extremely durable plastic is higher
-Optimal fluid structure for efficient vacuum - The deviceis small and durable; it can be directly installed on the
O generation handling system
R € -Quick-plug interface -The action cycle is extremely short, the frequency is high
i = -Connecting port for DIN standard rail connection  -Noextrascrews required
Q -Opensilencer -Simple installation; can also be installed directly on the distribution box
3 -Low noise, long maintenance interval, low maintenance frequency
Q
o
EBZEMERNAAK The wire's length is 5 meters
€2,
gs  %45¥J Structure
HE
Q
ﬁ: % SERSIE
Pneumatic suctionvalve
HEFF% (SCPSh-VDES) 5]
vacuum switch (SCPSb-VDmodel) Pneumatic blow valve
52
#flz
B3
J]e EEESEQ
Compressed air connection
FlES 8
Opensilencer
RS TS IRET DINtRSHERED -,
E< Blow adjusting screw DIN standard rail connector h “'. -
EE ERAET K EBSCPSh-VDRB RGN IIT BEERNET LERSCPShAFRAHLET
#H=z Theintegrated vacuum generator SCPSb-VD adopts a systematic Vacuum can be supplied centrally through the integrated vacuum
§. design. generator SCPSb.
o
wr FARSE Technical Parameter
3 - . BosEp
2 = = B9 B SAHIRIR - .' = “: q
T‘\ OGE Y, I 3R, Iz BY — =R :
g Blo d'state  Absorptionsta
'8 1.Y13276|SCPSb-07-S04-NC-VD 0.7 85 16 22 116 61 58 2.6 4 4 0...50
§ 1.Y13277 | SCPSb-10-S04-NC-VD 1.0 85 34 46 116 73 60 2.6 4 4 0...50
a 1.Y13278|SCPSb-15-5S04-NC-VD 1.5 85 64 59 116 76 65 2.6 4 6 0...50

A RESBIYENEIRIE K SE(ANR)AL01.3kPa, BEMEESFIN20°CM65%K 4 FHBH,
*All flow parameters refer to the parameters under the conditions of ambient atmospheric pressure (ANR) of 101.3kPa,
temperature and humidity of 20°C and 65% respectively

*EEESFRE: ARIS08573-1, 3-3-3%, TIEFR(40 um)EHIAE o
*Compressed air quality: up to ISO 8573-1, level 3-3-3, filter grade (40 um) with or without oil.

(1) T{EEA4barll T,
(1) Working pressure below 4 bar.

CRG



BETfEYH SCPSbZ7%!I Vacuum Module SCPSb Series

B3y | FhE

3gnL SNS . 2]1404d

HEE A

S|NPOA SIUBIS

SERE RYE

Gas circuit diagram Dimensions

S SR

J9bueyd 3oInd

Z¥g=#  Structural parameters

BE

(Model)
1.Y13276 |SCPSb-07-S04-NC-VD | 18 | 18.6 | 4.4 6 6 2.6 | 77.5| 147 | 40.8 | 47.5| 16.5| 5.5 | 86.2|102.5| 81.4| 22 | 29.5(36.9( 16 | 12 | 12

S
a|npo\ diug

1.Y13277|SCPSb-10-S04-NC-VD | 18 | 18.6 | 4.4 6 6 2.6 [77.5| 147 | 40.8 | 47.5( 16.5| 5.5 | 86.2 (102.5 81.4| 22 | 29.5|369| 16 | 12 | 12
1.Y13278|SCPSb-15-S04-NC-VD | 18 | 18.6 | 4.4 6 8 2.6 [ 77.5| 147 | 40.8 | 47.5| 16.5| 5.5 | 86.2 (102.5| 81.4| 22 |29.5|369| 16 | 12 | 12

ham 2 20301

JaddiN 11y

By

S|NPOIN wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

.



A Global Famous Brand
An International Excellent Enterprise

NANDEE INTER-TRADE CO., LTD. ®: @nandeeintertrade

Tel : 0-2675-8230 (Auto), 0-2675-8240 (Auto)
Fax : 0-2212-1448, 0-2213-0360 @; www.nandee.co.th

@ uSén uuidumasinsn 9 | f - nandeeintertrade




